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QUESTION 1

A company has recently acquired Guardium software entitlement to help meet their upcoming PCI-DSS audit
requirements. The company is entitled to Standard Guardium DAM offering. 

Which of the following features can the Guardium administrator use with the current entitlement? (Select two.) 

A. Run Vulnerability Assessment reports 

B. Generate audit reports using PCI-DSS Accelerator 

C. Block and quarantine an unauthorized database connection 

D. Mask sensitive PCI-DSS information from web application interface 

E. Log and alert all database activities that access PCI-DSS Sensitive Objects. 

Correct Answer: AB 

 

QUESTION 2

A company wants to deploy S-TAPs for 2 groups of database servers located in 2 different data centers. The current set
of Collectors are fully utilized. The Aggregators and Central Manager can handle more load. 

What should a Guardium administrator recommend? 

A. Deploy 2 new Collectors, 1 in each data center. 

B. Connect S-TAPs directly to Aggregators to avoid network latency. 

C. Connect S-TAPs directly to the Central Manager to avoid network latency. 

D. Deploy 2 new Collectors in the third data center located in between the 2 data centers. 

Correct Answer: A 

 

QUESTION 3

During a Guardium deployment planning meeting, the team decides to deploy all S-TAP agents on all Unix/ Linux
database systems. A Unix/Linux system administrator team manager asks a Guardium administrator if there are any
differences between Guardium S- TAPs for AIX and Linux systems that the team should be aware of. 

What should be the Guardium administrator\\'s response? 

A. A-TAP is required on all AIX DB Servers. 

B. aserver reboot is required to capture shared memory traffic from all databases on AIX. 

C. K-TAP is required on the AIX DB servers. The exact uname -a output is required to determine the correct K-TAP
module for the server. 
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D. K-TAP is required on the Linux DB servers. The exact uname -a output is required to determine the correct K-TAP
module for the server. 

Correct Answer: B 

 

QUESTION 4

After a successful purge, a Guardium administrator observes that the full percentage of the Guardium internal database
is not decreasing. The administrator uses support show db- top-tables all and finds the size of the largest tables has
decreased significantly. 

What should the administrator do? 

A. Increase the retention period and rerun the purge. 

B. Rebuild the appliance and restore from the backup. 

C. Login to CLI and execute stop inspection-core. 

D. Optimize the internal TURBINEdatabase using diag CLI command. 

Correct Answer: D 

 

QUESTION 5

AGuardium environment is set up to send daily reports to users. The users are complaining that their report has not
been delivered to their inbox for the past week. What is the first action the Guardium administrator should take in order
to diagnose the problem? 

A. Open a ticket with IBM Support. 

B. Pause the User Portal Sync process. 

C. Check in the Aggregation/Archive log. 

D. Check in the Scheduled Job Exceptions. 

Correct Answer: D 
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